FVOR@ET 10 Akt: A B
XLEHIBAEW
(mMeecmof=LOL%) 237

O 90cmouE—TY 80cm» a—7"»"HY FT,
HhET Amfl c mTTH,

L=

iy
NE

] T Irep i

@ 2m30cmd VLN 5, 7TO0cmyIYrYzlrt, ®2
Yo b0 EXE. flemTT A,

L=

188
NF

] R T IEIrRe

@ R | | % %’7@@[50%@//7@@



-
of £ \o NP DES () BiZH : A H
4@25255“&\ ©@
“ (mMeecmof=LOL%) 23z

O 90cmouE—TY 80cm» a—7"»"HY FT,
HoHT AmfAcmTTh.

LT 90cm+80cm=170cm
= I m70cm
19140
+ 3.0
| 750 2%2: I m70cm

@ 2m30cmd VHEAS, TOcmPYrYE Lk, D2
Yo vHD RX I, femTT B,

L22mM30cm—70cm=1m60cm

1o T
R|13:0
- 710 22: |m60cm
1]610
@ HR B % @“@?5@3@&@9%@



